Packing for Profit U Performance Assessment Solution

1. A carton has a height of 24”, a width of 36”, and a length of 48”.

a. Find the footprint = length X width

i. 36” X 48” = 1728 square inches

ii. Or 3’ X 4’ = 12 square feet

iii. Or 1 yd. X 1.33 yd. = 1.33 square yards

b. Find the volume = length X width X height

i. 36” X 48” X 24” = 41,472 cubic inches

ii. Or 3’ X 4’ X 2’ = 24 cubic feet

iii. Or 1 yd. X 1.33 yd. X 0.67 yd. = 0.89 cubic yards

2. A container has an interior length of 49’-6”, width of 98”, and height of 106.5”.

a. Find the floor space (interior footprint) = length X width

i. 594” (49’-6”) X 98” = 58,212 square inches

ii. Or 49.50’ X 8.17’ = 404.25 square feet

iii. Or 16.5 yd. X 2.72 yd. = 44.92 square yards

b. Find the interior space (interior volume) = length X width X height

i.  594” (49’-6”) X 98” X 106.5” = 6,199,578 cubic inches

ii. Or 49.50’ X 8.17’ X 8.875’ (106.5”) = 3,587.72 cubic feet

iii. Or 16.5 yd. X 2.72 yd. X 2.96 yd. = 132.88 cubic yards

3. Container space available divided by goods space required should equal optimum space used.

a. 132.88 cubic yards / 0.89 cubic yards = 149.30 goods
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